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Q1. A rectangular footing of 1.5 m x 3 m is laid at a depth of 2.5 m below the 

ground surface. Determine the net bearing capacity using the IS 6403 

code method; assume General Shear Failure/ Local Shear Failure 

according to your understanding. Consider the following properties of 

soil: y = 21 kN/m'; = 38°; RD = 89%; load is inclined at an angle of 15° 

w.r.t vertical direction and the water table is located at a depth of 1.5 m 

from the base of the foundation. 
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Q2. Determine the primary settlement of the foundation due to clay layer 

shown in figure below. 
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Q3. Determine the Coulomb active and passive force on the retaining wall 
shown in the Fig below. 
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Q3.A Sm high retaining wall is shown in the figure below. Determine the Rankine active pressure on the wall. (a) Before the formation of the crack, (b) After the formation of the crack. 
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Q4. A long natural slope an overconsolidated clay (c' = 10 kPa and o= 25°, 

Ysat =20 kN/m') is inclined at 10° to the horizontal. The water table is at 
the surface and the seepage is parallel to the slope. If a plane slip has 
developed at a depth of 5 m below the surface, determine the factor of 

o4. A vertical cut is made through a homogeneous soil mass, c = 35kN/m: ó 
=20° and y = 16.5 kN/m). Using Culmann's method, determine the safe depth of the cut, and stability number, taking a factor of safety of 2.o. 
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safety. Take yw = 10 kN/m³ 
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